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All modeling in this report was done using the Mozilla Firefox web browser software. All users that were tested for these models are in the 19-25 age range, and have experience using this software.
FUNCTION 1
Design: Search for a word on a web page, when only the first 2 letters of the word are known.
Assumptions: The search function in Mozilla has not yet been used since the browser was opened. The webpage itself contains little text having anything to do with the desired result. The second result in the search is the appropriate result.
1. Initiate search (M)

2. Point to Edit menu (P)

3. Click mouse button (B)

4. Find "Find in this page" option (M)

5. Click "Find in this page" option (B)

6. Remember section of word to search for (M)

7. Hands to keyboard to type in section of word (H)

8. Type in section of word (Kx2)

9. Locate "find next" button (M)

10. Click "find next" button (B)

11. Observe results (M)

12. Click "find next" button (B)

13. Observe results (M)
(Two K operators are used as a two character fragment is being typed in to search for).
Execution Time: 6M + 1P + 4B + 2K = 7.2 + 1.1 + .4 + .4 = 9.1 Sec.

Assumptions: The search function in Mozilla has not yet been used since the browser was opened. The webpage itself contains a lot of text, especially relating to the desired result.  The thirteenth result in the search is the appropriate result.
1. Initiate search (M)

2. Point to Edit menu (P)

3. Click mouse button (B)

4. Find "Find in this page" option (M)

5. Click "Find in this page" option (B)

6. Remember section of word to search for (M)

7. Hands to keyboard to type in section of word (H)

8. Type in section of word (Kx2)

9. Locate "find next" button (M)

10. Click "find next" button (B)

11. Observe results (M)

12. Click "find next" button (B)

13. Observe results (M)

14. Click "find next" button (B)

15. Observe results (M)

16. Click "find next" button (B)

17. Observe results (M)

18. Click "find next" button (B)

19. Observe results (M)

20. Click "find next" button (B)

21. Observe results (M)

22. Click "find next" button (B)

23. Observe results (M)

24. Click "find next" button (B)

25. Observe results (M)

26. Click "find next" button (B)

27. Observe results (M)

28. Click "find next" button (B)

29. Observe results (M)

30. Click "find next" button (B)

31. Observe results (M)

32. Click "find next" button (B)

33. Observe results (M)

34. Click "find next" button (B)

35. Observe results (M)

36. Click "find next" button (B)

37. Observe results (M)
(Two K operators are used as a two character fragment is being typed in to search for).
Execution Time: 18M + 1P + 16B + 2K = 21.6 + 1.1 + 1.6 + .4 = 24.7 Sec.

Method for goal: Search for a word beginning in a webpage, of which only the first two letters are known.

Step 1. Accomplish goal: Open the search function

Step 2. Accomplish goal: Search for result

Step 3. Return with goal accomplished

Method for goal: Open the search function

Step 1. Move cursor to the edit menu (P)
Step 2. Click mouse button on edit (B)
Step 3. Locate "find in this page" (M)
Step 4. Click mouse button on "find in this page" (B)
Step 5. Return with goal accomplished

Method for goal: Search for result

Step 1. Recall the phrase to be searched for (M)
Step 2. Type in phrase to be searched for (Kx2)
Step 3. Locate the "find next" button (M)
Step 4. Click mouse button on "find next" (B)
Step 5. Decide: if this is the desired result, return with goal            accomplished (M)
Step 6. Goto Step 4

Execution Time for first case: 4M + 1P + 3B + 2K = 4.8 + 1.1 + .3 + .4 = 6.6 sec.
Execution Time for second case: 16M + 1P + 15B + 2K = 19.2 + 1.1 + 1.5 + .4 = 22.2 sec.

User 1’s execution time for first case: 7 sec.

User 1’s execution time for the second case: 20 sec.

User 2’s execution time for first case: 6 sec.

User 2’s execution time for the second case: 21 sec.

User 3’s execution time for the first case: 7 sec.

User 3’s execution time for the second case: 19 sec.

FUNCTION 2
Design: Bookmark a page, and file it in the appropriate folder.

Assumptions: There are currently 6 main folders in the bookmark manager, none of which are expanded out to reveal their contents. The appropriate folder is the topmost folder in the bookmark manager.
1. Initiate bookmark (M)

2. Point to "Bookmarks" menu (P)

3. Click mouse button on "Bookmarks" (B)

4. Find "Bookmark this page" (M)

5. Click "Bookmark this page" (B)

6. Click the "OK" button (B)

7. Point to "Bookmarks" menu (P)

8. Click mouse button on "Bookmarks" (B)

9. Find "Manage bookmarks" (M)

10. Click "Manage bookmarks" (B)

11. Find page that was just bookmarked (M)

12. Click and hold mouse button on that bookmark (B)

13. Drag bookmark into appropriate folder (P)

14. Release the mouse button (B)

Execution Time: 4M + 3P + 6B = 4.8 + 3.3 + .7 = 8.8 sec.

Assumptions: There are currently 6 main folders in the bookmark manager, all of which are expanded to reveal their full contents. There are 6 bookmarks contained within each of the 6 folders, and no other subfolders. The appropriate folder is the topmost folder in the bookmark manager.
1. Initiate bookmark (M)

2. Point to "Bookmarks" menu (P)

3. Click mouse button on "Bookmarks" (B)

4. Find "Bookmark this page" (M)

5. Click "Bookmark this page" (B)

6. Click the "OK" button (B)

7. Point to "Bookmarks" menu (P)

8. Click mouse button on "Bookmarks" (B)

9. Find "Manage bookmarks" (M)

10. Click "Manage bookmarks" (B)

11. Scroll down to the bottom of the bookmarks listing (B)
12. Release mouse button (B)
12. Find page that was just bookmarked (M)

13. Click and hold mouse button on that bookmark (B)

14. Scroll up to the top of the bookmarks listing (P)

15. Find desired folder (M)

16. Drag bookmark into appropriate folder (P)

17. Release the mouse button (B)

Execution Time: 5M + 4P + 9B = 6 + 4.4 + .9 = 10.3 sec.

Method for goal: Create a bookmark, and store it in the appropriate subfolder within the bookmarks manager.

Step 1. Create the bookmark

Step 2. Move bookmark to subfolder

Step 3. Return with goal accomplished

Method for goal: Create the bookmark

Step 1. Move the cursor to the "Bookmarks" menu (P)
Step 2. Click the mouse on "Bookmarks" menu (B)
Step 3. Locate "Bookmark this page" (M)
Step 4. Click the mouse on "Bookmark this page" (B)
Step 5. Click the "OK" button (B)
Step 6. Return with goal accomplished

Method for goal: Move bookmark to subfolder

Step 1. Move the cursor to the "Bookmarks" menu (P)
Step 2. Click the mouse on "Bookmarks" menu (B)
Step 3. Locate "Manage bookmarks" (M)
Step 4. Click the mouse on "Manage bookmarks" (B)
Step 5. Scroll the mouse down to the bottom of the listing (B)
Step 6. Locate the bookmark just made (M)
Step 7. Click and hold the mouse button on that bookmark (B)
Step 8. Decide: if the desired folder is within view in the        bookmark manager, skip to step 9. (M)
Step 8. Scroll up the bookmarks listing (P)
Step 9. Locate the desired folder (M)
Step 10. Drag the bookmark to the desired folder (P)
Step 11. Release the mouse button (B)
Step 12. Return with goal accomplished

Execution Time for first case: 5M + 3P + 6B = 6 + 3.3 + .6 = 9.9 sec.

Execution Time for second case: 5M + 4P + 6B = 6 + 4.4 + .6 = 11 sec.

User 1’s execution time for first case: 10 sec.

User 1’s execution time for second case: 11 sec.

User 2’s execution time for the first case: 9 sec.

User 2’s execution time for the second case: 12 sec.

User 3’s execution time for the first case: 9 sec.

User 3’s execution time for the second case: 12 sec.

FUNCTION 3

Design: Open a new tab, and go then return to the tab that was previously used.

Assumptions: Before opening the new tab, only one tab was previously open.

1. Initiate opening a new tab (M)
2. Point to file menu (P)

3. Click on file menu (B)

4. Find “New tab” (M)

5. Click “New tab” (B)

6. Point to the new tab (P)

7. Locate previous tab (M)

8. Point to previous tab (P)

9. Click on previous tab (B)

Execution Time: 3M + 3P + 3B = 3.6 + 3.3 + .3 = 7.2 sec.
Assumptions: Before opening the new tab, eight tabs were previously open. Assumptions also include that the user is not going to be able to just remember what tab he or she previously came from, so she must examine each tab individually. The desired tab is the fourth to last, if working from most recently opened to oldest.
1. Initiate opening a new tab (M)

2. Point to file menu (P)

3. Click on file menu (B)

4. Find “New tab” (M)

5. Click “New tab” (B)

6. Point to the new tab (P)

7. Locate previous tab (M)

8. Point to previous tab (P)

9. Click on previous tab (B)

10. Examine tab (M)

11. Locate previous tab (M)

12. Point to previous tab (P)

13. Click on previous tab (B)

14. Examine tab (M)

15. Locate previous tab (M)

16. Point to previous tab (P)

17. Click on previous tab (B)

18. Examine tab (M)

19. Locate previous tab (M)

20. Point to previous tab (P)

21. Click on previous tab (B)

22. Examine tab (M)

23. Locate previous tab (M)

24. Point to previous tab (P)

25. Click on previous tab (B)

26. Examine tab (M)

Execution Time: 12M + 7P + 7B = 14.4 + 7.7 + .7 = 22.8 sec.
Method for goal: Create a new tab, and return to the previous tab.
Step 1. Create a new tab
Step 2. Return to the previous tab

Step 3. Return with goal accomplished

Method for goal: Create a new tab

Step 1. Point mouse to file menu (P)

Step 2. Click mouse on file menu (B)

Step 3. Locate “New tab” (M)

Step 4. Click on “New tab” (B)

Step 5. Point to the new tab (P)

Step 6. Return with goal accomplished

Method for goal: Return to the previous tab

Step 1. Click on previous tab (B)

Step 2. Examine tab (M)

Step 3. Decide: If this is not the desired tab, then go to     If it is, then proceed. (M)

Step 4. Point to tab (P)

Execution time for first case: 3M + 3P + 3B = 3.6 + 3.3 + .3 = 7.2 sec.

Execution time for second case: 11M + 3P + 7B = 13.2 + 3.3 + .7 = 17.2 sec.

User 1’s execution time for first case: 6 sec.

User 1’s execution time for second case: 15 sec.

User 2’s execution time for first case: 6 sec.

User 2’s execution time for second case: 16 sec.

User 3’s execution time for first case: 6 sec.

User 3’s execution time for second case: 16 sec.

Conclusions

Based upon the recorded execution time of each user that was tested, the GOMS models came closer to matching the user execution times than the KLMS models did in the cases of all three functions.  It is likely that it has something to do with the experience level of the users that were tested.  All three could be considered to be highly experienced in using the Mozilla web browsing software.  It seems as though the GOMS model goes into less painstaking details when it comes to specifying each individual step than the KLMS model does.  Therefore, in the case of a more experienced user, the GOMS model would appear to be more accurate than the KLMS model.
